-A jar contains 5 yellow marbles, 16 green marbles, and 8 black marbles. If one marble is selected at random, what is the probability that it is not green? 
Solution: Total number of marbles = 5 + 16 + 8 = 29
Number of marbles that are not green = 5 + 8 = 13

Therefore, Probability of drawing a non-green marble = 13/29

-One card is selected at random from a standard 52-card deck of playing cards. Find the probability that the card selected is a red king. 
Solution: Number of red kings in a deck = 2
Therefore, Probability of drawing a red king from a deck of 52 cards = 2/52 = 1/26

- The odds against Thunderbolt winning the Sarasota Derby are 9: 2. Find the probability that Thunderbolt wins.  
A)  9/20 
B) 11/20 
C) 9/11 
D) 2/11 
E) 2/9 

Solution: The number of ways thunderbolt can win = 2
​​Total sample size = 9 + 2 = 11

Therefore, the probability that Thunderbolt wins = 2/11  

